
6060 6060.5 6061 6061.5 6062
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6365

6365.5

6366

6366.5

6367

6367.5

6368

6368.5

6369

ru
n

run:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

147−

146.5−

146−

145.5−

145−

us
l_

1X

usl_1X:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

32

32.5

33

33.5

34

us
l_

4a
Y

usl_4aY:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

109

109.5

110

110.5

111

us
l_

4e
X

usl_4eX:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

7.5−

7−

6.5−

6−

5.5−

us
l_

4e
Y

usl_4eY:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

47−

46.5−

46−

45.5−

45−

us
l_

12
X

usl_12X:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6365

6365.5

6366

6366.5

6367

6367.5

6368

6368.5

6369

ru
n

run:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

177−

176.5−

176−

175.5−

175−

us
r_

1X

usr_1X:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

32.5

33

33.5

34

34.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

222.6

222.8

223

223.2

223.4

223.6

223.8

224

224.2

224.4

224.6

224.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6.5−

6−

5.5−

5−

4.5−

us
r_

4e
Y

usr_4eY:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

50.5−

50−

49.5−

49−

48.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6365

6365.5

6366

6366.5

6367

6367.5

6368

6368.5

6369

ru
n

run:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

16262.2

16262.4

16262.6

16262.8

16263

16263.2

16263.4

16263.6

16263.8

16264

16264.2

16264.4

us
l_

co
il1

usl_coil1:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

3994

3994.5

3995

3995.5

3996

us
l_

co
il3

usl_coil3:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

4495.2

4495.4

4495.6

4495.8

4496

4496.2

4496.4

4496.6

4496.8

4497

4497.2

4497.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

991.5−

991−

990.5−

990−

989.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

19322.5

19323

19323.5

19324

19324.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6365

6365.5

6366

6366.5

6367

6367.5

6368

6368.5

6369

ru
n

run:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

18780.8−

18780.6−

18780.4−

18780.2−

18780−

18779.8−

18779.6−

18779.4−

18779.2−

18779−

18778.8−

18778.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

3782.5−

3782−

3781.5−

3781−

3780.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

4907.6

4907.8

4908

4908.2

4908.4

4908.6

4908.8

4909

4909.2

4909.4

4909.6

4909.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

1070.5−

1070−

1069.5−

1069−

1068.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

22287

22287.2

22287.4

22287.6

22287.8

22288

22288.2

22288.4

22288.6

22288.8

22289

22289.2

us
r_

co
il7

usr_coil7:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6365

6365.5

6366

6366.5

6367

6367.5

6368

6368.5

6369

ru
n

run:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

363.8−

363.6−

363.4−

363.2−

363−

362.8−

362.6−

362.4−

362.2−

362−

361.8−

361.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

68−

67.5−

67−

66.5−

66−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

409.4−

409.2−

409−

408.8−

408.6−

408.4−

408.2−

408−

407.8−

407.6−

407.4−

407.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

89.5−

89−

88.5−

88−

87.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

173

173.5

174

174.5

175

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

36

36.5

37

37.5

38

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

9−

8.5−

8−

7.5−

7−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

184.5

185

185.5

186

186.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

26.5−

26−

25.5−

25−

24.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

7−

6.5−

6−

5.5−

5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6367}



6060 6060.5 6061 6061.5 6062
cyclenum

175−

174.5−

174−

173.5−

173−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

84−

83.5−

83−

82.5−

82−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

436−

435.5−

435−

434.5−

434−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6367}

6060 6060.5 6061 6061.5 6062
cyclenum

6365

6365.5

6366

6366.5

6367

6367.5

6368

6368.5

6369

ru
n

run:cyclenum {run == 6367}
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